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1 JIIHE *x 42 42| 7.2 134.8 B
2 [HBH xx 42 42] 7.2 [34.8 2L
3 |PEE sk 41 41] 6.0 [35.0 3£z
4 |FEE % 40 40| 4.8 [35.2 447
5 | K ek 40 40| 4.8 [35.2 5 fiL
6 |FE * 45 45| 9.6 [35.4 6 {if
7 I3k ek ; 45 45/ 9.6 135.4 747
8 @8 % z 45 45! 9.6 [35.4 8 {ir
9 ABR kx 38 38 2.4 135.6 9 4L
= 38 38 2.4 [35.6 1 0f
11 P ek 44 44| 8.4 135.6
12 |FHH wk 44 44| 8.4 135.6
13 B ek 44 44| 8.4 135.6
14 [y ¢ ! 50 50/14.4 135.6
15 5 ek f 50 50/14.4 35.6
16 |fRf=  ** 50 50/14.4 [35.6
17 |BEE * 49 49[13.2 135.8
18 | For 55 55/19.2 [35.8
19 [HFT ek ! 42 42] 6.0 136.0
20 KB #x | 42 42] 6.0 [36.0 HE
21 | KE *x 42 421 6.0 136.0
22 HHEE  *x 41 411 4.8 [36.2
23 1FEH = 41 41] 4.8 136.2
24 [IUF  *x 41 41] 4.8 [36.2
25 | xx 47 47/10.8 136.2
26 |HHE  xx 40 40! 3.6 136.4
27 | *x 40 40! 3.6 [36.4
TR 46 46| 9.6 36.4
29 [RA Hx 46 46] 9.6 [36.4
30 [FA ek 46 46] 9.6 [36.4 RE
31 |FAA * 52 52/15.6 [36.4
32 BB *xx 39 39| 2.4 136.6
33 I *x 45 45| 8.4 36.6
R 45 45| 8.4 136.6
35 [HFT x 51 51114.4 [36.6
36 HEH  wxx 44 44] 7.2 136.8
37 |8 #x 44 , 44| 7.2 136.8
38 [FEH  *xx 43 | 43/ 6.0 137.0
39 |BFH  #x , 43 431 6.0 137.0 |
40 |WREE  *x 49 49112.0 [37.0 EE
41 EEF] *x | 49 49/12.0 [37.0
42 Bl *kx 49 49]12.0 137.0
43 Bt #x | 42 42| 4.8 [37.2
44 T * ‘ 48 48110.8 [37.2
45 | KEE  ** 48 48110.8 137.2
46 FE * 41 41] 3.6 [37.4
47 [FoH 47 47/ 9.6 137.4
48 | =i #* 47 47/ 9.6 [37.4 |
49 ZE ek 47 471 9.6 [37.4 z
50 |BLRT  x 40 40] 2.4 [37.6 FRE
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51 Bl s 46 46| 8.4 [37.6

52 A *x 46 46| 8.4 137.6

53 B *x 46 46] 8.4 137.6

54 |BERF * 45 451 7.2 137.8
T 45 45/ 7.2 137.8
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59 |FEJE % 44 441 6.0 [38.0

60 [FEE  Hxk 44 44] 6.0 138.0 FRE
61 FEAC 50 50/12.0 138.0 z
62 [FREE  kx 50 50112.0 [38.0

63 |5 * 50 50/12.0 [38.0

64 |FTER ek 50 | 50/12.0 [38.0

65 | BE *x 43 43] 4.8 [38.2

66 |{EBF  wx 43 43] 4.8 138.2

67 A *x 42 | 42] 3.6 138.4

68 | FH  kx 42 | 421 3.6 [38.4

69 |HIE  *x 48 48] 9.6 138.4

70 [EElL xx 53 53114.4 138.6 RE
71 HEBE 53 53114.4 138.6

72 HIA  xk 46 46] 7.2 138.8

73 |FEE % 45 451 6.0 [39.0

74 |FEZE *x , 51 51112.0 139.0

75 EM x 54 54/14.4 [39.6

76 | EA  xrx 53 53113.2 139.8

77 1 ZRF  *x 59 59/19.2 [39.8

78 AT ek 52 52/12.0 [40.0

79 #BE xx 52 52112.0 [40.0

80 [ARED  *x 52 52112.0 [40.0 RE
81 /hEJI x 60 60120.0 140.0 |
82 | =hf sokk 51 51110.8 [40.2 '
83 [HH % 51 51/10.8 140. 2
TEEZ 57 57116.8 140. 2

85 | FBF % 57 57116.8 140.2

86 [TJI[ 49 49] 8.4 140.6

87 FAET  *x 55 55:14.4 140.6

88 IRl 48 48] 7.2 140.8

89 |FFIE ke 54 54/13.2 [40.8

90 FEFH wxk 54 54/13.2 140.8 RKE
91 [JIE = 53 53112.0 41.0

92 I'EH  wxx 53 53]12.0 [41.0

93 [[Lilgy x 61 61/20.0 [41.0

94 $ER k% 46 46] 4.8 [41.2

95 |&EH * 45 | 45| 3.6 141.4

06 |JAIEF  kdek 51 hl| 9.6 [41.4

97 & E sk 55 55/13.2 !41.8

98 | *x 54 54112.0 [42.0 |
99 BN k% 51 51| 8.4 142.6

100 (A2 *x 50 50] 7.2 142.8 BB
101 KB =*x 56 56/13.2 [42.8
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